- W Traffic is a problem in this town. There are too many cars.

® The hat is too big for him.

L LMELE D MUV IEAUGIE DMEar L LY LULITT,
(= more sugar than I want)
® 1 don’t feel very well. I ate too much.
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(= I need more sugar)
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Exercises UNIT 93

93.1 Look at the pictures and complete the sentences. Use too + these words:
big crowded fast heavy Jdeud- low

| 1. | 2. | 3. | 4. | 5. 6. =
3. (they’re not getting married / young) They're
4. (nobody goes out at night / dangerous)
It’s
5. (don’t call Sue now / late)
It's

6. (I didn't say anything / surprised)

T was




